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1 2008-2009

2008 2009

9544 9638

5553.67 5680.00

36796.71 39081.59

38748 40748

11165.06 13353.15

12772.21 14891.76

4520.12 4923.59

2844.79 2850.37

69036 70694

(2000 ) 3564.85 3964.02

2793.04 2521.62

4041.88 3589.56

191.67 195.35

3310.32 3649.19

3778.57 4305.37

( =100) % 105.6 97.7

( =100) % 106.0 96.8

33110 35965

19733 21575

6400 6907

121.64 133.41

100.08 120.46

679.65 696.11

956.47 887.65

23.16 25.04

38.39 41.34

# 14.43 15.57
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2 2008-2009

2008 2009

132802 133474

77480 77995

300670 335353

# 34000 35477

129112 134625

172828.4 224846.0

108488 125343

110301 121211

23196.7 24773.6

(2000 )( ) 23649.5 27313.0

( ) 11325.6 10056.0

( ) 14306.9 12017.0

( ) 924.0 900.0

( ) 61330.4 68477.0

( =100) % 105.9 99.3

29229 32736

15781 17175

4761 5153

23680.8 24970.7

2021.0 2144.7

8050.5 7875.2

10331.5 10071.5

374.8 396.0

503.0 522.0

# 208.2 216.0

:1. 2009
2. 100 200
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3

2008 2009

2007
% 2.1 -2.7

16501 16062
236485 229329

% 3.7 -2.5
16752 16335
240075 233239

697.8 700.4
‰ 11.3 11.7
‰ 6.0 5.7

364.9 367.7
% 3.6 5.4

(1992 9 =100) % 123.4 120.2

3166 3085*
3124 2912*

M3 63023 66268
(2004 10 2005 9 =100)

% 108.9 109.5

(2008 =100) % 100.0 91.7
12182 11143
905 902

875.70 772.74
2449 2104
2951 2959

% 85 78

908 577
27334 24113
30253 26924

365056 344748
483915 474316

*2009
4 1 3 31

1998

2008-2009
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4

2008 2009

2002
( ) % 12.9 1.3

1412.2 1430.9
25.7 26.3

( ) % 15.5 -2.4
1735.5 1693.4
31.6 31.1

55.2 54.4
‰ 8.5 8.8
‰ 3.2 3.1

33.3 32.9
% 3.0 3.6

160.3 76.7
95.8 29.7
64.4 47.0
430.3 369.0

2.1 1.6

56.4 40.3
2293.3 2175.3

% 74 71

622.6 576.4
304.4 338.2

( M2) 1897.9 2121.5
(2004 7 2005 6 =100)

100.23 101.40

27481 …

39463 …

20917 …

:
2009
2009 14 16
2000 ( ) 2007

2008-2009
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5

2008 2009

130131 129513
126985 125274

% 0.7 -1.9
% 0.6 -3.1
% -0.2 -4.6
% 0.9 -0.2

% 1.6 1.6
% 29.3 29.9
% 69.2 68.6

565846 561290
17941 16997

2304 2312
‰ 2.40 2.07

/ 637 639

1085 1092
% 4.1 5.9

(2006 100) 105.7 106.3
(2006 100) 105.9 97.3

139777 114496

2556 2037
2404 1744

985 923
2320 2310
54355 53957
91.6 92.4

66828 60575

847 814
385 440

17604 15303
M2 278625 294629

% 7.0 5.7
279779 295559

(2006 =100)
% 5.15 -8.74
% 3.53 -0.87

2000 1999 2000

2008-2009
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2000
1978

1980 1990

100

100

100
2004 2005

i / i i
i / i

GDP GDP

1
GDP ,

GDP
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3 GDP

i / ×Y Y
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